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Lesson 10

Standards of Learning: A.54 A.16, A.17

Reporting Category:  Statistics
BIG IDEAS:  Matrices, Line of Best Fit, Measures of Central Tendency, Range, 

and Box-and-whisker Plots
Check and Review of Previous Work/Anticipatory Set with Graphing Calculators 

· Warm-Up A.4 (Matrices)

· Warm-Up A.16 (Line of best fit)

· Warm-Up A.17 (Measures of central tendency, range, box-and-whisker plots) 

Modeling

· Graphing Calculator

· Mnemonic Device – DMX (x – domain)

· Mnemonic Device – XDRY (x – domain, y – range)

Guided Practice/Games and Activities

· Quotable Puzzle

· People Search 

· Matrices
· Getting Around to PI

· Line of Best Fit

· Box-and-Whiskers

· Measures of Central Tendency

Independent Practice

Independent Practice #9 (SOL A.4, A.16, A.17)

Follow-Up for Guided Practice

· Follow-Up guided practice based upon individual student needs

· Practice Standards of Learning Tests on Computer

· www.jlab.org
· ARDT (strand test form A or B)

· ePAT

Assessment

Standards of Learning Mini-Challenge #10
SOL Warm-Up

Graphing Calculator Active

A.4a   Using matrices to organize and manipulate data

1. 
What is the sum of the following matrices?   
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2.
 What is the difference of the following matrices?   
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3. 
What is the scalar product?   
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4. 
Which matrix best represents how many fans for each league said they                 

     
would ban the designated hitter rule?
              Fans

                 NL      AL
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SOL Warm-Up

Graphing Calculator Active

A.4b   Using matrices to organize and manipulate data

1. 
What is the sum of the following matrices?   
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2. 
What is the scalar product?   
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SOL Warm-Up

Graphing Calculator Active

A.16a Writing equation for a line of best fit

1. 
What is the equation of the line of best fit that best models the data in the table?
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x    6      5      4      3     2     1     0     -1     -2

[image: image85.png]


y   11   10     12    10    2     0    -1     -1     -2

A   y = 2x + 0.5

B   y = 2x

C   y = 0.5x + 2

D   y = 2x - 0.5                                                          

2. 
Data gathered on used 4-runners
[image: image86.png]


shows how the number of miles driven 
 
miles driven      selling price
[image: image87.png]


affects the selling price.  Which equation
             23,000

 29,000 

best models the line of best fit for the data,
             25,000   

 27,000     

where x is the number of miles in thousands
   26,000

 25,000

 
and y is the selling price in thousands? 
             33,000

 21,000










   34,000

 21,000










   35,000

 20,000

A   y = -0.4x + 35.5 





   43,000

 18,000

B   y =  35.5x - 0.4





   45,000

 17,000 

C   y = -2.3x + 85.5





   64,000

 12,000

D   y = -0.4x + 35466
SOL Warm-Up

Graphing Calculator Active

A.16b  Writing equation for a line of best fit

1.
Which is the equation of the line of best fit that best models the data in the table?
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x   6       8      9     16     17     18     26     28    37

y   29    27    25    21     21     20     18     17    12

A   y = -5x + 30

B   y =0.5x + 30.3

C   y = -5x + 30.3

D   y = 30x  - 0.5

2.  
What is the equation of the line of best fit that best models the data in the table?


x    15    19    21    35    37   39    55   59    97

y    24    22    20    14   15    16    13    2      7

A   y =  -0.2x - 24

B   y =   0.2x + 24 

C   y =    24x -0.2

D   y =  -0.2x + 24

3. You want to carpet your room and 

        square feet     selling price
you collect data on different sales to find 

    
 100 

     956

the best price.  Which equation best  


     
120 

     1207

models the data you found if
 


     
125                   1190

x is the number square feet of carpet


     
130                   1238

you need and and y is the selling price? 

     
140 

     1428

   








150 

     1375

160                   1523

A y =  11x +165 





     
175 

     1903

B y =  11x - 165 





    
200     
     2020

C y = -11x + 165    

D y =  165x - 11
SOL Warm-Up

Graphing Calculator Active

A.17a Finding measures of central tendency and range of a set of data

1. 
What is the median of the following set of data?

12, 17, 17, 19, 20, 21, 21, 24, 29

A   17

B   19

C   20

D   21

2. 
What is the mean of the following set of data?

300, 35, 40, 50, 60

A   93

B   97

C   98

D   100

3.
A magazine ad shows 5 video cameras on sale for $499, $895, $679, $1195, and $1400.  What is the mean price of the video cameras?

A   $923.60

B   $933.60

C   $943.60

D   $1014.60

4. 
What is the range for the following set of data?

25, 32, 18, 27, 39, 20, 42, 23, and 35

A   24

B   26

C   27

D   29
SOL Warm-Up

Graphing Calculator Active

A.17b Finding measures of central tendency

15 shoppers at a grocery store spent the following amounts:

$12.75 $21.95 $98.54 $63.26 $62.47

$39.62 $79.67 $170.62 $121.27 $15.43

$17.14 $186.51 $139.20 $74.18 $119.45

1.
What is the mean of the data above?

A   $76.76

B   $81.47

C   $83.95

D   $99.51

2. 
What is the median of the data above?

A   $63.26

B   $74.18

C   $79.67

D   $119.45

3.
What is the range of the data above?

A   $121.27

B   $170.62

C   $173.76

D   $186.51
SOL Warm-Up
Graphing Calculator Active

A.17c Finding measures of central tendency


The box-and-whisker plot to the right represents standardized test scores for 280 ninth grade students.

1.
50% of the students scored above what number?

A   51

B   72

C   80

D   91

2. 
50% of the students scored between what two numbers?

A   51 and 91

B   51 and 97

C   72 and 91

D   72 and 97

3.
What is the interquartile range of the scores?

A   6

B   17

C   19

D   46

4.  
25% of the students scored below what number?

A   51

B   72

C   80

D   91

5. 
What percent of the students scored above 91?

A   1

B   27

C   70

D   97
SOL Warm-Up

Graphing Calculator Active

A.17d Analyzing data

Below are percentages of all doctorates earned by men and women between 1980 and 1989:

College 

Women
 Men

Boudoin 

   45 

  48

Carleton 

   38 

  61

Grinnell 

   34 

  47

Middlebury 
   36 

  46

Oberlin 

   20 

  34

Swarthmore 
   34

  46

1. 
What is the difference between the means of the percentages of doctorates earned by women and men?

A   11.5

B   12

C   12.5

D   14

2. 
What is the difference in the ranges of the percentages of doctorates earned by men and women?

A   1

B   2

C   3

D   4

3. 
How much higher is the median of the percentage of doctorates earned by men than the percentage earned by women?

A   10.5

B   11.0

C   11.5

D   12.0

4. 
If the Oberlin data is omitted, what is the difference between the means of the percentages of doctorates earned by women and men?

A   11.0

B   11.5

C   12

D  12.2
SOL Warm-Up

Graphing Calculator Active

A.17e Using stem-and-leaf and box-and-whisker plots to compare and analyze data


1. Which of the following box-and-whisker plots best represents the data in the stem-and-leaf plot? 


2. 
Which of the following box-and-whisker plots best represents 

the following data?  21, 23, 27, 27, 31, 35, 42, 43, 46, 46, 48


QUOTABLE PUZZLE—Lesson 10



Statistics








A.4, A.16, A.17
Directions:  Solve the following problems.  Match that answer to the correct letter of the alphabet.  Enter that letter of the alphabet on the blank corresponding to the problem number.

​​​___   ___   ___   ___        ___   ___        ___   ___   ___   ___   ___   ___   ___

 15     14      6       8           10      9            6       5      14      3       6      13      14

___   ___   ___   ___   ___   ___        ___   ___        ___   ___   ___   ___   ___   ___

 15     14     12     10      6       8           10      9           15     10     12     12      2       14

___   ___   ___   ___        ___   ___        ___   ___   ___   ___

 15      4       12    14          10      9           15      4       9       1

___   ___   ___   ___   ___        ___   ___        ___   ___   ___   ___   ___   ___   ___   ___   ___   ___

  3       6       8      13     14          10      9           12     10      7       7      14      3      14      8       11     14 

A            B            C           D            E             F            G         H          I         J         K         L         M

41          18           90         100          33           21          31.8      17        93       32        34        80        56

N            O            P           Q            R             S            T         U         V        W         X         Y         Z

48           30          88          50           75           89.3         81       60       42.6      50        28        15        44  

Use the data below to determine:




Use the data below to determine:

75, 80, 70, 100, 92, 88, 80, 75, 70, 75, 90



94, 92, 90, 100, 100, 100, 95, 0, 90, 90, 91, 98, 98,

1.  mean =




90, 90, 100, 90, 100

2.  median =






9.  mean =




3.  mode = 






10.  median =

4.  range = 






11. mode =

12.  range = 

Use the table below to determine:

5.  mean = 






6.  median =






7.  mode = 






8.  range = 

	Stem 
	 Leaf  

	   2
	1, 1, 1

	   3
	0, 1, 2

	   4
	0, 0, 1, 2, 4

	   5
	1, 3, 5

	   6
	6, 7, 9


Use the table below to determine:

13.  mean = 






14.  median = 






15.  range = 

	Stem 
	  Leaf 

	    0
	3, 6, 7

	    1
	3, 5, 9, 9

	    2 
	

	    3
	0, 2, 4, 5

	    4  
	0, 1, 9

	    5
	5, 7, 8, 9


People Search—Lesson 10

           Statistics




                   A.4, A.16, A.17
[image: image31.wmf]
Directions:  Find a different person to answer each of the following questions.  Each person should sign the question they answer.

	Find the range of the set of data:  3, 18, 27, 29, 30, 31.

_______________________


	Find the mode of the set of numbers:  2,2,3,4,5,5,5,6.

_______________________

	Find the median for the set of numbers:

     16, 18, 21, 23, 27, 29

_______________________


	Find the mean for the following grades:

     80, 72, 91, 95

__________________

	
Find A + B if 

A=   2   3           B =   -1   0

        4   5                   - 2   3


	Find 2A if

A =     -2   3

            1    0    

	Find the equation that best describes the set of data:

((0,1),(1,4),(2,7),(3,10),(4,13)}.

_______________________


	Figure what Sally must make on her 4th test to have an average of 85 if her other grades are 80, 90, and 82.

________________


Find Someone Who Can…

 

Matrices—Lesson 10
______________________________________________________________________________

Background Information:

· Students will need to know how to organize data into matrix form.

· Students will need to know how to enter data into a matrix in the graphing   calculator.

_______________________________________________________________________________

Materials and Equipment:

· Graphing calculator and view screen

· Overhead projector

· Each student will need:



Graphing calculator and handouts

_______________________________________________________________________________
Notes to Teacher:

· It is the intent of this activity that students will organize and manipulate data in matrix form.

· A bonus to this activity is that students are exposed to the distributive property without “calling it “ the distributive property.  

· When you get to #11, you may want to refer back to A.2,  Getting to know your calculator –Boolean Algebra.

· Students may work alone or in pairs on this activity.

· The time allotted for this activity varies depending on the ability level of the students.

Activity Sheet:
Matrices

Enter the following information in Matrix form into Matrix A and Matrix B on your calculator.

When finished return to the HOME SCREEN



shoes
socks
jackets  ties
rings

Matrix A
11
14
  3
   7
 2

Matrix B
15
18
  6
  4
  20


Find the following:

1.

[image: image32.wmf][
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2.
Explain a situation that describes the operation in #1.

3.



4.
Explain a situation that describes the operation in #3.

5.



6.
Explain a situation that describes the operation in #5.

7. 
Explain the process necessary to do the following:


Multiply Matrix 

 by 11.


Actual Result =

8.
Explain the process necessary to do the following:

Add Matrix 

 to  Matrix 

 and multiply this result by 5.


Actual Result =

9.
Explain the process necessary to do the following:


Take Matrix 

 and Add 5 times Matrix 

.


Actual Result =

10.
Explain the process necessary to do the following:

Multiply Matrix 

 by 11,  Multiply Matrix 

 by 4 and then Add the result together.


Actual Result =

The following are algebraic. 

11.



12.



13.



14



15.



16.



17.



18.



19.



20.  The measure of an angle is described as 

 and is described as 

.

Find the expression for 6 times 


Getting Around to 
[image: image33.wmf]p

 (Pi)—Lesson 10

_______________________________________________________________________________

Background Information:

· Students will need to be able to measure distances.

· Students will need to know how to find measures of central tendencies.

· Students will need to be able to enter data into LISTS of the graphing calculator and manipulate this data within the LISTS.

· Students will need to be able to create a Box and Whisker Plot of the data using the STAT PLOT function of the graphing calculator. 

______________________________________________________________________________

Materials and Equipment:

· The teacher will need to have a collection of circular items.  Cylinders work well but circles cut out of cardboard (thickness is needed) are easier to store and are easier to collect.

· Linear measuring tools

· Graphing calculator and view screen

· Overhead projector

· Each student will need:



Graphing calculator and handouts

_______________________________________________________________________________

Notes to Teacher:

· The level of teacher involvement in this activity depends on the amount of background information the students have and the amount of expertise they have acquired on the calculator.

· Students may work alone or in pairs on this activity.

· The time allotted for this activity varies depending on the ability level of the students.

Activity Sheet: 
Getting Around to PI

Part  I.  Collect the data
1.  Pick one item from the collection of cylinders or circles.

2.  Measure and record its circumference to the nearest millimeter.

3.  Measure and record its diameter to the nearest millimeter.

4.  Repeat steps #1- 3 for a variety of other cylinders.

	Item
	        Circumference
	Diameter

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	


Part II.  Enter and use the data
1.  Enter the data above into your calculator. Circumference in 
[image: image34.wmf]1
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  and Diameter in 
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.

2.  Use the calculator to find the ratio of circumference to diameter. 

 Store this in a new list.
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      3.   Use the calculator to find the measures of central tendency for the ratio.  



Mean



Median



Mode



Range


What does each measure tell you about the data?


Are there any outliers that need to be accounted for?  If yes, what should be done?


Which measure of central tendency is the most useful here?  Why?

4.  Use the calculator to make a box and whisker plot of the ratio.  Draw a quick sketch of the plot.  What does the box and whisker show about the data?

  If you had any outliers above, delete them from you list now.  How does the Box-and-

  Whisker Plot change?  Why? 

5.  Can you generate an algorithm or formula that allows you to find the circumference of a circle if you know the diameter?  How about the diameter if you know the circumference?

Line of Best Fit—Lesson 10

_______________________________________________________________________________
Background Information:

· Students need to know how to find the equation of a line given two points on the line.

· Students need to know how to enter data into LISTS function of the graphing calculator.

_______________________________________________________________________________
Materials and Equipment:

· Graphing calculator and view screen

· Overhead projector

· Each student will need:



Graphing calculator and handouts

______________________________________________________________________________

Notes to Teacher:

· Students should use the “eyeball” method to determine the two points they wish to use.

· Since all data is linear, no matter which two points the student chooses, all will get the same equation.

· Students may work alone or in pairs on this activity.

· The time allotted for this activity varies depending on the ability level of the students.

_______________________________________________________________________________

Activity Sheet: 
Line of Best Fit 

Data 1

	Age

(in months)
	Median weight

For girls (in lbs.)

	0
	

	1
	

	2
	

	3
	

	4
	

	5
	

	6
	


Enter the data from Data 1 into 
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 and 
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      Choose an appropriate window.

Make a STAT PLOT of the information.  

Now that you can visualize the data, choose two points and determine a line of best fit through the data points.

You could use the STAT CALC function to find the line of best fit.
Follow the same procedure for each of the following data sets:

Data 2

Harvard Community Health Plan uses the following “rule” for the recommended weight for men.



“Give yourself 106 lbs for the first 5 feet, plus 6 lbs for every inch over 5 feet”.

Data 3

	Hours
	Miles

	0
	0

	1
	5

	2
	10

	3
	15

	4
	20


Data 4

	Gallons

Of Gas
	Dollars

Spent

	1
	1.50

	2
	3.00

	3
	4.50

	4
	6.00

	5
	7.50


Data 5


    Mean Height of  Kalama Children

	Age

(months)
	Height

(cm)

	18
	76.1

	19
	77.0

	20
	78.1

	21
	78.2

	22
	78.8

	23
	79.7

	24
	79.9

	25
	81.1

	26
	81.2

	27
	81.8

	28
	82.8

	29
	83.5


Box-and-Whisker Plots—Lesson 10

Background Information:

Students will need to know how to enter data into LISTS function of the graphing calculator.

_______________________________________________________________________________
Materials and Equipment:

· Graphing calculator and view screen

· Overhead projector

· Each student will need:



Graphing calculator and handouts

_______________________________________________________________________________

Notes to Teacher:

· Students may work alone or in pairs on this activity.

· The time allotted for this activity varies depending on the ability level of  the students.

_______________________________________________________________________________

Activity Sheet: 
Box-and-Whisker Plots

Box-and-Whiskers 1:

Manually, make a box and whiskers plot of the scores on this Statistics exam.

85
96
87
54
90
92

Now enter the scores into 
[image: image41.wmf]1

L



Choose an appropriate Window


Results as follows:


Tracing:


Try different windows.  See what happens.

Box-and-Whiskers 2 (Stem-and-Leaf Plot):

The following scores were obtained by 50 students on a final exam in Statistics.

Create a Stem-and-Leaf Plot for the data.

51
46
31
35
37
51
56
51
43
48
52

33
42
37
27
57
65
36
37
55
42
43

33
49
31
46
50
57
52
35
38
47
42

58
38
47
54
39
51
68
36
48
36
47

32
51
50
44
32
36

Using your calculator, make a box and whiskers plot of the scores. Does the Stem-and-Leaf  plot help the process?

Sketch your Box-and-Whisker Plot identifying the Min, Q1, Med, Q2, and Max.
Box-and-Whiskers 3:

Scores on the first physics test are as follows:

Class 1

	Student
	A
	B
	C
	D
	E
	F
	G
	H
	I
	J

	Score
	55
	64
	83
	92
	100
	77
	86
	95
	80
	98


Class 2:

	Student
	A
	B
	C
	D
	E
	F
	G
	H
	I

	Score
	52
	79
	71
	100
	100
	76
	100
	78
	76


Make a box-and-whiskers plot of each set of data on the same graphics screen.

You will have to use two different LISTS and two different STAT PLOTS.

Sketch each Box-and-Whisker identifying the Min, Q1, Med, Q2, and Max of each.

Which class did better?

What is the average (mean or median?) score for each class?  

(When you prompt the calculator to do 1-variable statistics, you MUST follow the prompt with the “place” you stored the statistics, i.e.
[image: image42.wmf]???
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Does this change your opinion about which class did better?

When statistics are “quoted”, what words can be deceiving?

Can the wording affect how one perceives the overall picture of “which class did better?”

Box-and-Whiskers 4:

An experiment found a significant difference between boys and girls pertaining to their ability to identify objects held in their left hand, which are controlled by the right side of their brains, versus their right hands, which are controlled by the left side of their brains.  

The test involved 20 small objects, which participants were not allowed to see.  First they held 10 of the objects one by one in their left hands and guessed what they were.  Then they held the other 10 objects one by one in their right hands and guessed what they were.  




Correct Guesses

	Women

Left
	Women

Right
	Men

Left
	Men

Right

	8
	4
	7
	12

	9
	1
	8
	6

	12
	8
	7
	12

	11
	12
	5
	12

	10
	11
	7
	7

	8
	11
	8
	11

	12
	13
	11
	12

	7
	12
	4
	8

	9
	11
	10
	12

	11
	12
	14
	11


Make a box-and-whiskers plot that will allow you to compare the data.

Measures of Central Tendency—Lesson 10

_______________________________________________________________________________

Background Information:

Students will need to know how to determine mean, median, and range of a set of data.

_______________________________________________________________________________

Materials and Equipment:

Handouts

_______________________________________________________________________________

Notes to Teacher:

· This activity is very open-ended.

· You will need to ASSIGN the number of yard sale items, consequently, this activity may be used multiple times.

· It is the intent of this activity that students will need to work backwards to answer the questions.

· It is the intent of this activity that students will gain a true understanding of mean, median, and range.

· Students may work alone or in pairs on this activity.

· The time allotted for this activity varies depending on the ability level of the students.

Activity Sheet:
Measures of Central Tendency

( NOTE:  Your teacher will need to determine the NUMBER of items that will be available at the yard sale.)

Scenario 1:
You have been given the dubious honor of chairing the annual CMS yard sale.  One of your duties is to advertise in the Free Lance Star.  The ad reads:

CMS YARD SALE

Items range in price from 20 cents to $4.80.

Median price of items is $2.10.

    Mean price of items is $2.10.

Explain what this means to a potential customer.

Give an example of a set of prices that fits this scenario.

_______________________________________________________________________________

Scenario 2:
You have been given the dubious honor of chairing the annual CMS yard sale.  One of your duties is to advertise in the Free Lance Star.  The ad reads:
CMS YARD SALE

Items range in price from 20 cents to $4.80.

Median price of items is $2.10.

Mean price of items is $2.20.

Explain what this means to a potential customer.

Give an example of a set of prices that fits this scenario.

_______________________________________________________________________________

Scenario 3:
You have been given the dubious honor of chairing the annual CMS yard 

sale.  One of your duties is to advertise in the Free Lance Star.  The ad 

reads:

CMS YARD SALE

Items range in price from 20 cents to $4.80.

Median price of items is $2.10.

Mean price of items is $1.80.

Explain what this means to a potential customer.

Give an example of a set of prices that fits this scenario.

Matrices (Beginning)—Lesson 10

   _________________________________________________________________________

Background Information:

· Students will need to know how to organize information into a matrix.

· Students will need to know how to enter matrices into the graphing calculator.

_____________________________________________________________________________________

Materials and Equipment
· Graphing calculator and view screen.

· Each student will need:



Graphing calculator and handouts

_____________________________________________________________________________________

Notes to Teacher:

· Students may work alone or in pairs on this activity.

· The time allotted for this activity varies depending on the ability level of the students.

_____________________________________________________________________________________

Activity Sheet: 
Matrices (Beginning)

Place all the information into matrices that will help organize the data.

Gertrude, Marilda and Homer love to eat at fast food places.   Generally, Gertrude orders 4 hamburgers, 4 sodas and 4 French fries; Marilda orders 6 hamburgers, 1 soda and 1 French fry, while Homer orders 2 hamburgers, 10 sodas, and 2 French fries.  They shop around and find the following information for their favorite fast food places:

Wendy’s charges $1.69 for hamburgers, $.79 for sodas and $.69 for French fries.

McDonald’s charges $1.85 for hamburgers, $.59 for sodas, and $.75 for French fries. 

Burger King charges $1.75 for hamburgers, $.65 for sodas, and $.59 for French fries.

Use the matrices to determine how much each person will spend at each fast food place. Recommend a fast food place for each person. Explain your choices.

Independent Practice—Lesson 10

Statistics








 A.4, A.16, A.17

Read and solve.
1.  In which data set is the median value equal to the mean value?


A.  {2, 4, 6, 7, 8}


B.  {12, 18, 20, 23, 24}


C.  {16, 17, 18, 19, 20}


D.  {50, 60, 65, 75, 85}

	Leaf
	Stem

	3  4
	    5

	2  4  8
	    6

	0  1  2  5  7  7  9
	    7

	4  5  6  7
	    8

	1  2  4  6
	    9


2.  This is a stem-and-leaf plot of a group of test scores.  What is the median score?   


A.  73


B.  76


C.  77


D.  77.5

3.  This is a box-and-whisker plot of a set of scores.

40              50              60              70              80              90              100

  |-------------|-------------|-------------|-------------|-------------|-------------|   

	   
	


                     |------------ -------------------|

In which quartile does a score of 76 lie?

A.  1st

B.  2nd

C.  3rd

D.  4th
Independent Practice #10 continued

4.  Jorge made the following stem-and-leaf plot of the weights of the members of the football team he was coaching.

	 Stem  
	Leaf

	   10
	9

	   11
	

	   12
	3, 8

	   13
	2, 4, 4, 6, 8

	   14
	1, 3, 5, 5, 9

	   15
	2, 3, 7, 7, 9

	   16
	1, 3, 7, 8, 8, 8, 9   

	   17
	3, 8


What was the mode of the weight of the players on the team?


A.  145


B.  150


C.  152


D.  168

5.  Which of the following operations would result in the matrix    
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B.  ½  
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[image: image49.wmf]5

4

L

N

M

   
[image: image50.wmf]5

3

O

Q

P

 --  
[image: image51.wmf]-

-

L

N

M

1

2

     
[image: image52.wmf]-

-

O

Q

P

3

2



D. 
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Independent Practice –Lesson 10 continued
6.  Mari and Marc are bowling a 3-game match to determine the top bowler for their league.  Marc averaged 163 for his three games.  Mari bowled 171 and 145 for her first two games.  What is the lowest score possible for her third game if she is to win the championship?


A.  150


B.  164


C.  174


D.  180







7.  If  [Q] =   
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   and   [R] =  
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 then [Q] – [R] = ?
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Independent Practice—Lesson 10  continued

8.
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9.  During a summer reading program, Mary read 9 books.  The books contained 217 pages, 138 pages, 159 pages, 356 pages, 270 pages, 112 pages, 138 pages, 210 pages, and 195 pages.  What was the median number of pages of the 9 books that Mary read during the summer reading program?


A.  138


B.  159


C.  195


D.  244

Independent Practice—Lesson 10 continued.

10.  

[image: image69.png]Using the median fit method, which
scatterplot most likely has a line of
best fit represented by y = “x + 5?

P
T
i
i
:
g
A U EE L
P4
T g
T i |
i
B 3 CE
¥
3
G
3
¢ H SLoeEs x

-





SOL Mini-Challenge—Lesson 10




Statistics

 A.4, A.16, A.17

Read and solve.

1.  Carol went on a 5-day bicycle trip.  She rode 23 miles the first day, 22 miles the second, 21 miles the third, 17 miles the fourth, and 17 miles the fifth day.  What was the mean number of miles per day that Carol rode on her 5-day bicycle trip?


A.  6 mi.


B.  20 mi.


C.  21 mi.


D.  23 mi.

2.  Alberto made the box-and-whisker plot of the heights (in inches) of the members of his basketball team.

      64    65    66    67    68    69    70    71    72    73    74    75    76    77    78    79    80

        |-----|-----|-----|------|-----|------|-----|------|-----|-----|------|-----|------|-----|------|-----|

	   
	


                   |-----------------------------------|

3.  What is the range of heights of the team members?



F.  16 in.


G.  9 in.


H.  4 in.


J.   2 in.

4.  In which data set is the median value equal to the mean value?


A.  {2, 4, 7, 9, 11}


B.  {7, 9, 10, 11, 16}


C.  {6, 12, 18, 24, 27}


D.  {33, 40, 46, 52, 59}

SOL Mini-Challenge—Lesson 10 continued

5.  Researchers testing a new high blood pressure medication measured the initial blood pressure of 15 patients before administering the drug.





     Diastolic Blood Pressure


	Stem
	Leaf

	    9
	4, 5, 8

	   10
	0, 2, 3, 4, 8

	   11
	1, 6, 7, 7

	   12
	2, 7

	   13
	1


    Which box-and-whisker plot best represents the data displayed in the stem-and-leaf plot?


F. 
90       100     110     120     130     140      

                 
-| - - - - | - - - - | - - - - | - - - - | - - - - | - 




 ___________

 

          |-|         |           |-----------|


G.  
90       100     110     120     130     140      

                 
-| - - - - | - - - - | - - - - | - - - - | - - - - | - 




 __________



      |----|      |            |------------|



H.
90       100     110     120     130     140      

                 
-| - - - - | - - - - | - - - - | - - - - | - - - - | - 

                                   _____________



      |---|            |           |--------|


J. 
90       100     110     120     130     140      

                 
-| - - - - | - - - - | - - - - | - - - - | - - - - | - 

                                     __________



      |----|         |         |-----------|

SOL Mini-Challenge—Lesson 10 continued

5.

[image: image70.png]The matrices show the membership by
grades in the Science Club (S) and the
Art Club (A) at Beacon Hill, Rockwood,
and Whitney middle schools.

Beacon Hill Rockwood Whitney
S A S A S A

Gr6 | 4 5] Gr6[ 8 4] Gr6[ 8 6
Ge7)| 9 3 Gr7 |10 5 Gr7| 9 2
Gr8 |12 7 GrS8 |14 8 GrS8 |14 4

Which shows the total number of
students in each club at each grade
level at the three schools?

A [40 49 43

[20 15]
B l2g 10
40 19

[25 15]
C. |3 iy
31 12

[9 1219
D 12 15 22
14 11 18





SOL Mini-Challenge—Lesson 10 continued
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SOL Mini-Challenge—Lesson 10  continued

8.
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SOL Mini-Challenge #10 continued
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